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Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whaole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 1

Q@1 Dr Kurien led Shastriji out of his home through the back

door:
1. to hide his identity.
2. to show him a picture of rural India.
3. crowds were waiting outside the front door.
4. back door was more spacious.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.2

Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 2

How long did Shastriji stay with him?

One day

One day and one night
One night

Two days

o e

b

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 3

@3 National Dairy Development Corporation is now actively
engaged in the field of:

1. dairy industry
2. edible oils
3. production of pulses
4. only |l and 2
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whaole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 4

Q4 Study the following statements:
(a) Shastriji wanted Dr Kurien to broaden his vision on a
national scale.
(b)NDDB was to have Shastriji™ as its head.

1. (a) is right and (b).is wrong:
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right.
4. Both (a) and (b) are wrong.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 5

Q5 Study the following statements:

(a) Technicians and dairy experts helped NDDB to
experience an immense growth.

(b)Even small cattle farmers became rich landlords.

(¢) Dr Kurien was rightly nicknamed ‘milkman of
India’.

(a) is right while (b) and (c) are wrong.
(b) is right while (c) and (a) are wrong.
(b) is wrong while (b) and (c) are right.
(a) is wrong while (b) and (c) are right.

e b

e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 6

Q6  <speaked him out’
The underlined word means the same as :

1. slipped

2. pushed

3. asked

4. made
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whaole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 7

Q7 ‘humble cattle farmers’
The word opposite in meaning to the underlined word here

is
1. rich
2. meek
3. modest
4, naive
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whaole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 8

Q8 ‘with the help of which .....’
The underlined word is a/an

Noun
Pronoun
Adjective
Adverb

ot b

.
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2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 9

Q9 What did Ramlal do for a living?
He was a

clerk
copywriter
journalist
proof reader

i L

>

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 10
Q10 How did he try to relax?

1. learned back in his chair
2. walked up and down the room
3. lay down in his recliner
4. both 1 and 2
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.11

Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 11

Ramlal was'surprised to see Koshy as

Koshy did not live in the neighbourhood.
he had seen Koshy after a long time.
those were Koshy’s office hours.

he had heard that Koshy was unwell.

s

b

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 12
Q12 Ramlal invited Koshy upstairs as

1. he had completed his work.
2. he wanted to show it to Koshy.
3. both 1 and 2
4. he wanted to have coffee with him.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 13

Q13 <Jooked up and hesitated’
The underlined word means the same as:

1. stirred
2. waverad
3. agitated
4. scratched
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 14

Q14 <Jooking timidly around’
The underlined word is opposite inmeaning to:
1. shyly
2. boldly
3. suspiciously
4. curiously
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 15

Q15 The other seemed reluectant ... ..
The underlined word is a/an

Noun
Verb
Adjective
Adverb

ot b

.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.16  Ateacher in her grammar class introduces rules of the grammar first and makes them understand how the form behaves
and how to use it in contexts. She then gives lots of tasks for learners to practice the language item. What is this process
of teaching-learning grammar is known as?

Content knowledge
Procedural knowledge
Declarative knowledge
Process knowledge

B R

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.17  Which of the following is not advocated by the National Education Policy (NEP) 20207

Study of a classical language from the early years of schooling.
Study of a classical language as an additional language during the secondary stage.

B e

3. Mother tongue / home language as medium up to class V and possibly up to class VIII.
4. Study of (other) Indian languages as option under three language formula.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.18 Here is a classroom interaction between a teacher and her students.

Teacher-“*So what kind of food do you eat for dinner in your family (2 seconds later)}
OK. Not sure? Not to worry.”
The teacher

1. asks a question for which the answer is obyious.
2. does not provide enough time for answering.
3. should have used simpler langnage.
4. asks a question for which the answer is too long;
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.19  Provided below are ideas for teaching speaking. Identify the idea that is not so useful.

1. It gives students some thinking time before they speak.
2. The topic for practicing speaking must be chosen carefully.
3. It’s helpful to base a speaking lesson on a listening lesson.
4. It’s useful to do error correction when students are speaking.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.20 wWhich of the following are not a feature of authentic materials?

Authentic texts contain cultural information.

Authentic texts can be found in dictionaries.

Newspapers, hoardings and brochures are examples of authentic texts.
Authentic material can look dated very quickly.

Bow o -

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.21  “Ask students to organize a continuous stream of text into paragraphs™. This is a question on

1. reading
2. writing
3. vocabulary
4. grammar
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.22 Which of the following statements regarding the use of language games is incorrect?

1. They can be used for revising previously taught language.
2. A game can be used as a warm up activity
3. A game distracts students from the objectives of learning.
4. Establishing the connect between a game and learning objectives is challenging.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.23  “Ttook my students to the computer room. I suggested them to do some writing. All they did was send messages to their
friends.” Why did that happen?

. The teacher did not provide clear instructions.
. The teacher allowed them too much freedom.
. The teacher changed the location of the class.
. The students did not feel motivated.

Options 1.
2.
3.
4.

AW N =2 pwo=

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 “Based on your understanding of the story, do you think Ravi will win Sati over?"” This question is

1. checking factual reading.
2. checking extrapolative reading.
3. eliciting information.
4. checking a vocabulary concept.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.25 According to Stephen Krashen, if a learner is at a stage '1', then acquisition takes place when she is exposed to
that belongs to level 'i + 1"

. enough input

. incomprehensible input
. comprehensible Input

. not enough input

oWk —

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q26 Which of the following is NOT a concept from language education?

1. Immersion
2. Comprehensible input
3. Event-related potential
4. Scaffolding
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 2
Q.27  The study of World Englishes-varieties of English used in diverse sociolinguistic contexts-represents in

research and teaching.

. anew approach
. a revolution

. aseachange

. a paradigm shift

bd =
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Options 1.
2.
3.
4.
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q28 Which of the following is an interaction based task for language learning?

1. Learners do a two-minute extempore speech on a topic.
2. Learners think aloud to describe a picture.
3. Learners write an essay ol a given topic.
4. Learners doagroupwork as theyread a text:
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.29 Which approach to writing gives scope for learners to undergo different stage of writing in order to learn to write?

1. Product Approach
2. Process Approach
3. Comumunicative Approach
4. Lexical Approach

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.30 Which of the following is an activity for promoting Basic Interpersonal Communication Skills (BICS)

. A study skill activity in which learners read an essay on climate change to make notes.

. Listening to a radio talk on the origin of COVID 19 and it impact on economy of developing countries.
. A conversation on abolition of capital punishment.

. A dialogue between learners on their day-to-day routines.

AU R

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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